Integers

Section 2.2 Adding and subtracting integers
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Express each of these as a single integer:
(i) —4—8 lil) =7 =2 (i) =2+ 5= 136




Exercise 2.2

1. Work out the following calculations using the number line.

® ® L] & ¢ @ & & & ® & & & - @
=0 = =4 =3 =2 =i 0 1 2 3 4 S 6 / 38

(i) 3—5 (i) 2—6 (i) 0 — 3 (iv) 1—4
(v) —1+4 (vi) —2+7 (vii) —1 —3 (viii) —2 — 4




Exercise 2.2

2. Write down the calculation represented by each diagram:

(i) / \ (1) / \
2 -1 0 1 2 2 -

I I I

3 4 5§ e —§ —

(iii) / \ (iv) / \

| 1 | | | | | | I

=) = -—5 -—-4 —-3 -—-2 = =Z =1 © 1 2 3 4 S




Exercise 2.2

3. Express each of the following as a single number.
(1] S=k7 (i) 6 —4 (iii) 12 —5 (iv) —8+ 6
(v) —10+ 3 (vi) 2 —8 ] —12+4 7 (vil) —16 + 12




Exercise 2.2

4. Simplify each of these:
() =] =2 (i) —9+ 3 (iii) —4 — 2 (iv) 1—8
(v) —7—4 (Vi) —2+ 12 (vii) —12 — 3 (viii) —20 — 30




Exercise 2.2

Express numbers 5 to 16 as a single number.
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Exercise 2.2

Express numbers 5 to 16 as a single number.

8. 16 —5—3 9. 20—5—-—8 10. 3—/7+9
S
= % = =5 _
— 8 = 5
—#.ﬁ




Exercise 2.2

Express numbers 5 to 16 as a single number.

11. 6 —2-9 V& —3+7—1 13 6— 91 12

= ~§ =) =




Exercise 2.2

Express numbers 5 to 16 as a single number.

14. 12 — 9 + 4 — 3 15. 12@+9@ 16. @@+4+8
V\a AA

= Yy =9 -3-3=-10
_ 4+8=tIL
_g —y=-N Tars=tie
7 4+Q =4&l T1
e




Exercise 2.2

17. Copy and complete these calculations:

(i) [3

(iv) —9 + |}

+ 6 =

9
= —6

(i) —7+(1l|=4
(v) —6—-0=14
_6 420>

_¢ ~ (20) =46

(iii)
(Vi)




Exercise 2.2

S/
18. Copy and complete these addition squares:




Exercise 2.2

19. Copy and complete these addition pyramids.
(1) (1)

—2? 3 ?—71\ 2 6 ?—4% ?—2




Exercise 2.2

20. In a magic square each row, each column and each diagonal adds up to the same

i il s i ae
number.

ﬂ
Now copy and complete each of these magic squares.

U -8|—-1]|-6| =~-|§ ) 2 |1 (1-3/=0 (i)

-5 0 —-6|-5|-4| =-15

—10




Exercise 2.2

21. At 7 p.m. the temperature in Berlin was 2°C. By midnight it had dropped by 5°C.
By 4 a.m. it had dropped a further 5°C. What was the temperature at 4 a.m.?




Exercise 2.2

22. John had €180 in his bank account. He lodged a further €135 to his account and
then withdrew €115. How much was then in his account?




Exercise 2.2

(i) 2

(vi) —6

() —6

(vi) 10

6. 38
10. 5

14. 4
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